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AGENTS BORROW/LEND YOUNG .
Hence

,
the YOUNG and Ord present

DT DATE t Do NOT INTELLACT IN THE CREDIT MARKET
.

-
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MARKET Canung Dr t N
+
b(r) =0(> b)r) = 0
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.....
BUT NOBODY BotRows or LEND

.

CE ALLOCATI On - (x
,, xn) = (10 ,

4)
.

-
IHIS ALLOCATION S T /TECHNICALLY) Pareto Optimal !



If THE YOUNG Of EACH GENERATION DONATED 2 Units

of CONSUMPTION T THE OLD AND THESE DONATION DRE SHARED

EQUALY BY THE OLD THEN THE CONSUMPTION STREAMS DRE :

*

DATE : ↓ 2 3 ---
t --

OLB 8
*

8 8 - - - 8 ---

YOUNG 8 8 8 ---- j
--

(* ) 4 + 2/2). Note That There Are TWICE AS MANY YOUNG INDIVIDUALS

THAN OLD INDIVIDUALS.

(a) The consumption Strean of Deneration t = o is (10
. 8). Al

THE OTHER GENATIONS' CONSUMPTION STRAN is 18
.

8)
.

Tit
, s SCHEM E IS NOT A MARKET OUTCOME ... BUT IT CAN BE

TheMesult of ↳Cultural Trait By which EDC + Mo THE T

REC , EVE3 2 UNIT Of CONSUMPTION FROM EDCH OF HER TO DAUGHTERS

WHAT /FThe POPULATION Is STUNKiNg I



(b) Money ! Mere of Transaction , deport of value)

Suppose that The Stock of Monel is SIVENToThe Os PRESENT T

t = 1
.
NotnaLs

,
THESE AGENTS WILL USE MONET N BGY AS MECH

of The consumption 6009 asMiS Can. A YOUNG AGENT

SELLINS SOME of (TS Endowment &N TIME t Ar Ho Li

ON THE MONES HES icVi To BT Good T NEXT

DATE. Thus
,

HEN BUDGET CONSTRAINT · S

P(x - E) + Pz+ (y - 5) = 0 (l
E

Obvious
,
N EquilibruM Pl > 0 ,

t. Hence /

MAY & E Wi, TE N AS

# (x - 10) + (2 -3)

L

.

ex + y = 10 + 3 =



AN ASENT BORN AT t Choose (x
, X2) to socue

max * a

s .

+
.

Pe x + y I 10ft + 4

The SOLUTION Solves THE SYSTEM

-

I
= Pe xt/ft) = 5 + 2

X & Pt

4 X + y = 10 + 3 3yf) = 2 + 54

HENCE
,
Market CLEBING MEQUIRES

Nto/2 + 59. . ) + Ne ( s + 2) = Ne
.

(4) + N
= (10)

(a) N = IN
+ - ,

51 + 4 =
12.

A
stational CE 14 . E ., 97=0

,
Ft) satisfies

53 - 12p + 4 =- = = =

-
z

- =



For = z /
x

, (2) = (0
, x2(5) = 4

InThis CE The M 1 No TRADE !

*

For f = 2 /
x(2) = 6

, y(z) = 12 .

L = 72

Pareto Supermod ! This (f) is Known * "The Golden Rule
&
↑

(ii) Nz-
,

=
N

+ = Market Cleanws : 2+ 2 1 + 5 + = 4 Ho

i. e
, 592 - 7 + 2 = 0

*=P
-

-
I o -

x(0) = y() =7 .

= = 49.

(iii) Ne
,
= 2 Nz .

MC : 4 + 10 e + S + E = 2(4) + 10

1012 - 99 + 2 = 0

*

·_ 2- 8: -

x(z) = = , 3)π = E
--


